
SAP ABAP table TICL814_TEST {Reserve Group / Indicatives}

TICL814_TEST

CLIENT [CLNT (3)]

RESGROUP [CHAR (25)]

INDEX_NUMBER [NUMC (3)]

COMPCODE_FROM [CHAR (4)]

COMPCODE_TO [CHAR (4)]

PRDGRP_FROM [CHAR (2)]

PRDGRP_TO [CHAR (2)]

LINEOFINS_FROM [CHAR (10)]

LINEOFINS_TO [CHAR (10)]

COVERAGE_FROM [CHAR (4)]

COVERAGE_TO [CHAR (4)]

REGOFFICE_FROM [CHAR (4)]

REGOFFICE_TO [CHAR (4)]

STATE_FROM [CHAR (3)]

STATE_TO [CHAR (3)]

T000

MANDT [CLNT (3)]

 TICL814_TEST-CLIENT = T000-MANDT 

0..N

1

TICL802

CLIENT [CLNT (3)]

RESGROUP [CHAR (25)]

 TICL814_TEST-RESGROUP = TICL802-RESGROUP 

0..N

1 TICL820

CLIENT [CLNT (3)]

PRDGRP [CHAR (2)]

 TICL814_TEST-PRDGRP_FROM = TICL820-PRDGRP 

0..N
0..N

 TICL814_TEST-PRDGRP_TO = TICL820-PRDGRP 
0..N

0..N
TICL821

CLIENT [CLNT (3)]

LINEOFINS [CHAR (10)]

 TICL814_TEST-LINEOFINS_FROM = TICL821-LINEOFINS 

0..N0..N  TICL814_TEST-LINEOFINS_TO = TICL821-LINEOFINS 
0..N

0..N
TICL822

CLIENT [CLNT (3)]

COVERAGE [CHAR (4)]

 TICL814_TEST-COVERAGE_FROM = TICL822-COVERAGE 

0..N
0..N

 TICL814_TEST-COVERAGE_TO = TICL822-COVERAGE 
0..N0..N

TICL823

CLIENT [CLNT (3)]

STATE [CHAR (3)]

 TICL814_TEST-STATE_FROM = TICL823-STATE 

0..N

0..N

 TICL814_TEST-STATE_TO = TICL823-STATE 
0..N

0..N

TICL824

CLIENT [CLNT (3)]

REGOFFICE [CHAR (4)]

 TICL814_TEST-REGOFFICE_FROM = TICL824-REGOFFICE 

0..N

0..N

 TICL814_TEST-REGOFFICE_TO = TICL824-REGOFFICE 

0..N

0..N

TICL825

CLIENT [CLNT (3)]

COMPCODE [CHAR (4)]

 TICL814_TEST-COMPCODE_FROM = TICL825-COMPCODE 

0..N

0..N

 TICL814_TEST-COMPCODE_TO = TICL825-COMPCODE 

0..N

0..N


